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Directions (1-15): िन᳜िलिखत ᮧ᳤ᲂ मᱶ ᮧ᳤वाचक िच᭮न (?) के ᭭थान पर ᭍या मान आएगा- 
 
Q1. 40% of 265 + 35% of 180 = 50% of ? 
(a) 338 
(b) 84.5 
(c) 253.5 
(d) 169 
(e) इनमᱶ से कोई नहᱭ  
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Q2. 460 × 15 – 5 × 20 = ? 
(a) 92000 
(b) 4600 
(c) 137800 
(d) 7000 
(e) इनमᱶ से कोई नहᱭ 
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Q3. 5163 – 4018 + 3209 = ? 
(a) 4174 
(b) 4264 
(c) 4804 
(d) 4354 
(e) इनमᱶ से कोई नहᱭ 
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Q4.  

(a)  



(b)  

(c)  

(d)  
(e) इनमᱶ से कोई नहᱭ 
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Q5. 4848 ÷ 24 × 11 – 222 = ? 
(a)  

(b)  

(c)  

(d)  
(e) इनमᱶ से कोई नहᱭ 
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Q6. 40% of 265 + 35% of 180 = 50% of ? + ?% of 80  
(a) 80 
(b) 95.5 
(c) 130 
(d) 125.5 
(e) 115 
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Q7.  
(a) 8 
(b) 5 
(c) –5 
(d) 5.5 
(e) –8 
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Q8.  
(a) 10 
(b) 9 



(c) 4 
(d) 8.5 
(e) ±8 
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Q9. 25 × 3.25 + 50.4 ÷ 24 = 99 - ? 
(a) 15.65 
(b) 15.25 
(c) 16.65 
(d) 16.25 
(e) 18.35  
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Q10. 350 % of ? ÷ 50 + 248 = 591.  
(a) 4900 
(b) 4890 
(c) 4850 
(d) 4950 
(e) 4750 
L1Difficulty 2 
QTagsSimplification 
QCreatorDeepak Rohilla 
 
Q11. 34928 – 2591 – 14986 = ? 
(a) 17546 
(b) 17355 
(c) 17351 
(d) 17390 
(e) इनमᱶ से कोई नहᱭ 
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Q12. 27% of 450 – ?% of 375 = 76.5 
(a) 14 
(b) 19 
(c) 12 
(d) 15 
(e) इनमᱶ से कोई नहᱭ 
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Q13.  

(a)  

(b)  

(c)  

(d)  
(e) इनमᱶ से कोई नहᱭ  
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Q14. (12 × 19) + (13 × 8) = (15 × 14) + ? 
(a) 124 
(b) 122 
(c) 126 
(d) 128 
(e) इनमᱶ से कोई नहᱭ 
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Q15.  
(a) 13.4 
(b) 12.8 
(c) 11.4 
(d) 9.6 
(e) इनमᱶ से कोई नहᱭ 
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Solutions 
 
S1. Ans.(a) 
Sol.  



 
 
S2. Ans.(e) 
Sol.  

 
 
S3. Ans.(d) 
Sol.  
5163 + 3209 = 8372 – 4018 = 4354  
 
S4. Ans.(b) 
Sol.  

 
 
S5. Ans.(c) 
Sol. 
 4848 ÷ 24 = 202,  
202 × 11 = 2222, 2222 – 222 = 2000 
 
S6. Ans.(c)  
Sol.  

 
 
S7. Ans.(c) 
Sol.  

 
 
S8. Ans.(e) 
Sol.  



 
 
S9. Ans. (a) 
Sol.?=99-83.35=15.65 
 
S10. Ans.(a) 
Sol.  

 
 
S11. Ans.(c) 
Sol.  

 
 
S12. Ans.(c) 
Sol.  

 
 
S13. Ans.(a) 
Sol.  

 
 
S14. Ans.(b) 
Sol.  

 
 
S15. Ans.(a) 
Sol.  



 
 
 
 


